Regular Curved Scissors Crossover
Tutorial is done with PUG .091c in P4/S4 gauge.  Zoom in and out as necessary to view the results of your work.  All templates should be named and we will suggest names to use but will not give the menu items as they are covered in other tutorials. 
1.
Start by selecting your scale and gauge. In this tutorial we are using P4 / S4 scale.  There will be a large number of templates to this small section of track so it is best to hide name labels pad > hide name labels.  Hide the information panel pad > hide information panel or alternately F2 toggles the panel on or off.  Hide the zoom / pan window if you wish, it will reappear when you do CTRL – F10.

Change the generator setting to exclude timber outlines and track center lines generator > generator settings > timber outlines and generator > generator settings > track center lines to remove the tick marks.  Timbers are reinstated at the end of this tutorial so that you can use the shove timbers menu items.  You can reinstate track center lines if you require them.  Note:  these settings must be changed each time as Templot starts with the default settings.  Changed generator settings are not saved, not even in a template file.
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2.
Start with a left hand B8 turnout template > new template (quick set) > template size - B8 main road curving straight.  Set turnout adjacent track center to 52.67 mm geometry > adjacent track centers > adjacent track centers TS (turnout side) enter the value 52.67, adjacent track centers MS (main side) accept the value given.  Set the turnout timbering to “square on” real > timbering > square-on (to main road).  You will not see the timbers at this time as we do not want to clutter the screen with them.  Name the template “Lower left turnout”.
[image: image2.jpg]ns active ] A=

man generator template rea geometry acton do tools group pad print hep

K[ ]@] ] << o [>>] @ -[+

workpad

[ no mouse: acf





3.
Make a crossover tools > make simple crossover.  Name it “Upper right turnout”.
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4.
Make a piece of plain track on the turnout side of the above template tools > make double track TS.  Insert a turnout into this template template > insert turnout in plain track.  Name it “Lower right turnout”.
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5.
Make a crossover tools > make simple crossover.  Name it “Upper left turnout”.  Save it to the background main > store & background.
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6.
We now need to work on the diamond vees and check rails.  Make a new template template > new template (quick set) > template size – L H left hand REA – 4.5, main road curving - straight.  Timbering > no timbering.  Use F7 shift position to move the new template off background templates.

Remove the turnout stock and check rails do > omit rails and joint marks > remove tick from turnout road stock rails, turnout road check rails, main road stock rails and main road check rails.  Convert to a half diamond template > convert template to a half diamond.

Place peg on fine point geometry > peg positions > on FP.  Action > F5 V-crossing angle options > any angle.  Name it “Dummy half diamond”.  Save it to the background main > store & background.
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7.
Now align the Dummy half diamond over the background templates.  First put peg on the turnout stock rail.  Left click on upper right turnout delete to the control.  Geometry>peg on line or rail > peg on turnout stock rail.  Use CTRL -F8 to snake the peg to where the two turnout stock rails intersect.  Save the template to the background main > store & background.
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8.
Left click on Dummy half diamond copy to the control.. Left click on upper right turnout peg / align tools > align the control template over, and snake onto peg > facing trailing.
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On pop up screens click yes – continue and then yes – continue unchanged.
  Zoom in on the template vee to view the results of your handywork.
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9.
Zoom in over control template where the two lower turnout crossing rails intersect.  Change mouse response action > modify mouse response > extra fine.  Use F8 rotate to align the control template over the background rail.  The diamond rail is a little long but we will correct that in the next sequence.
[image: image10.jpg]ns active ] A=

man generator template rea geometry acton do tools group pad print hep

&[4/ @) fa] << o[>>] @ -[+

workpad

[ no mouse: acf

Stock rail Diamond rail

/





10.
Zoom in on background templates where the two upper turnout crossing rails intersect.  Change mouse response action > modify mouse response > extra fine.  Use F5 size to align the control template rail over the background rail.  Do > omit rails and joint marks….> remove tick mark from crossing vee.  Name the control template “Right diamond crossing rails”.  Put template in background main > store & background.
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11.
Do > omit rails and joint marks….> put tick mark on crossing vee and remove tick marks from diagonal road crossing rail and main road crossing rail.  Name the control template “Right diamond crossing vee”.  Use F4 overall length to shorten vee to just match up with the two turnout stock rails.  Put template in background main > store & background.
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12.
Now let us make an inner vee for the right half diamond.  Rotate by 1800 Shift – F8.  Use F7 shift position to move template onto the intersection of the two check rails.  Use F4 overall length to shorten the vee so that there is only as small portion of both diverging vee routes.  Name the control template “Right diamond check vee”.  Save to the background main > store and background.

13.
Repeat procedures 7 to 12 for the left diamond.  Keep in mind that all work is rotated 1080 from what you have just done.  Note: no picture for this sequence.
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14.
Left click on lower right turnout delete to the control.  Remove the turnout stock and check rails do > omit rails and joint marks > remove tick mark from turnout road stock rail and turnout road check rail then main > store & background.

Do > omit rails and joint marks > put tick mark on turnout road stock rail, remove tick mark from turnout road check rail, turnout road crossing rail, crossing v, main road stock rail, main road check rail and main road crossing rail.  Real > timbering . no timbering.

Use F4 overall length to shorten remaining rail to just meet up with diamond vee.  Name the control template “Upper right turnout stock rail”.  main > store & background.
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15.
Repeat sequence for the upper right turnout. Pictured above.  Repeat for each of the other two turnouts.
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16.
We need to make check rails for the diamond.  To do this, create a new track gauge where the distance across the outside dimensions of the rail is the distance between “checks”.  In P4 this gives us a gauge of 15.68 mm.

Create the new gauge template > gauge & scale > other gauges.  Scroll down to the bottom of the list and select custom –a   OK.  At the next popup select “enter custom-a data”.  Next popup give this data a name, I entered “check rail”.  Next popup no enter custom settings individually.  Next popup scale in mm / ft.

There are a number of data entry screens, one for each dimension to be set.  Accept all preset dimensions except track gauge which should be changed to 15.68.  We have no need to modify other dimensions as we are only going to use plain track without timbering for check rails.  Picture above of final data window.

After all data is entered and accepted you will be presented with a new control template of a left hand B6 turnout in the new gauge.  Timbering > no timbering.  Straighten it geometry > straight, convert it to plain track template > convert to plain track.  Use F4 overall length to shorten it to a little over the length of a diamond check rail then use F7 shift position to move it to a place convenient and save it to the background main > store & background.  Note: no picture for this sequence
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17.
Next we create the diamond check rails.  Left click on lower right turnout template delete to the control.  Geometry > peg position > peg on TCP.  Main > store & background.  Left click on the short piece of check rail you made above copy to the control.

Left click the lower right turnout template peg / align tools > align the control template over, and snake onto peg > facing facing.  Popup will tell you that the peg is not on the main road, are you sure you want to do this action yes, continue.  do > omit rails and joints > remove tick mark on MS running rail.

Zoom in on template and use F4 overall length to adjust the template length to the center of the intersection of the turnout crossing rails.  If there is a gap between the check rail and the check rail vee, move the peg to the opposite end of the template and use F4 overall length to lengthen the rail to meet with the check rail vee.  Name the control template “Right diamond upper check rail”.  main > store & background.

Repeat this sequence for each of the other three turnouts omitting the MS or TS rail as required and name the templates accordingly.
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18.
Let us correct the overlap of the two upper turnout crossing rails.  Main > storage box > choose either of the upper turnouts and delete to the control.  Use F4 overall length to shorten the template so that the turnout crossing rail just touches the other turnout crossing rail.  Main > store & background.

Repeat with the other upper turnout crossing rail.
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19.
let us fill in the gap between the two lower turnout turnout crossing rails.  Left click on the lower right turnout delete to the control  Then  tools> make branch track, real > timbering > no timbering.  Use F4 overall length to shorten the template so that the branch track rail just touches the other turnout crossing rail.  Name the template “lower right turnout branch rail’.  Main > store & background.


Repeat for the lower left turnout.  Put notch back on pad datum geometry > notch > reset notch on pad datum.
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20.
Reinstate the timbering generator > generator settings > timber outlines then generator > rebuild all background.


I leave it to you to delete the short piece of check rail and dummy half diamond track and shove timbers as necessary.  Only the first four named templates have timbering, as we omitted timbering from all or the other templates.
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